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- Location: in Southwest of Asia \
- Population: more than 80 million
- Language: Persian
- Iranian's personality: kind and hospitable
- Attractions: amazing nature, historical sites
Iran .......
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1) You can install a mobile dictionary, (so/ or) .......
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The first wind machine was in Manjil, Iran, in 2001. The machine had three blades (wide parts)
that moved in the wind, and could use the kinetic energy of the wind to make electricity. This
wind machine was necessary for Iran because it gave renewable energy, unlike ways that used
fossile fuels. It also helped make less pollution and carbon gases. Running the wind machine
was not easy. It needed careful planning and engineering knowledge. Engineers put it in a place
with strong wind. Manjil was a good place because it had open land that was always windy.
After the first wind machine, more have been made in Iran. These machines have added a lot to
the country's energy-making and made the country less dependent on nonrenewable resources.
In short, the first wind machine in Iran was a big step in energy production. It produced lots of
energy and made less pollution. Its success has made more wind machines in Iran.

True / False
1) The first and the last wind machine in Iran was in Manjil. 3
2) The wind machine in Manjil used fossil fuels to generate electricity.

All the following choices are true about the wind machine in Manjil Except it .......
1) ran very easily 2) gave renewable energy 4

3) made less pollution 4) produced lots of energy

The underlined word "It" in line 4 refers to .......

1) pollution 2) renewable energy 3) 5
wind 4) wind machine

How could wind machine make electricity? 6
Why was Manjil a good place for wind machines? 7
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1) Demand for organic food is increasing. ) having fcc]mgsﬂo‘f liking for
i — someone or something.

b) the amount of a product or A

2) Absence makes the heart grow fonder .
_ service that people want.

3) You can find the exact meaning of part of speech. |c) to make new things.

d) a category that desribes the
role of a word.
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V) I remember during one dry summer talking to one grower who was complaining about his

poorc - --.
Y)Many words have been added to the first dictionary which Asadic - - - - - - - .
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counterparts / margin / flock / likelihood
V) Why do women in top manageral positions earn less than their male ........... ?
Y) With he ... of a thunderstorm tonight, the game will probably be canceled.

v) The scare caused people to ... to banks and take their money out.
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1. My mother ....... at the hospital by our relative? (to visit)
2. If I had a lot of money, I ....... that car. (to buy)
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1. want / information / get / to / some / history / about /1 /.
2. searched / a / Shiraz / successfully / they / map / for / of /.
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1. Burst into ....... a) entry
2.Go ....... b) repeatedly
3. Special ....... c¢) donate
4. Valuabable ....... d) jump into

e) arrange
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Iran is one of the country in southwest of Asia. It has more than A. million population and
their language is persian. Iranian's personality is kind and hospitable. It's attractions is -
.amazing and historical sites so Iran is one of the best for living

.or you can buy a paper book (one) ()
.and he reads a book (¥

False v) False (A
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The machine had three blades (wide parts) that moved in the wind, and could use the
.kinetic energy of the wind to make electricity

.because it had open land and that always windy (Manjil was a good place)

b Yya vd
crop Y) compiled (A

counterparts v) likelihood v) flock (1
was visited Y. would / could or might buy .\

I want to get some information about history .\
.They searched successfully for a map of Shiraz .¥
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